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[ k& m3/min . &Em/s OES
mm in ZE & ZEE -3 N %
20 3/4 0.025 0.025 1.33 1.33 20
25 1 0.05 0.05 1.7 1.7 25
32 1-1/4 0.08 0.08 1.66 1.66 30
40 1-1/2 0.13 0.15 1.73 1.99 40

0.2 0.18 47
. 2.21
50 2 0.24 0.26 " 50
0.3 0.35 1.51 52
- 2.26
e 2-1/2 0.4 0.45 2.01 56
0.5 0.55 1.89 59
2.4
80 3 0.63 0.65 2.38 6 61
0.85 0.9 1.81 64
100 s 1.1 1.2 2.34 2:55 67
1.4 1.6 1.9 68
125 5 1.7 1.9 2.31 258 70
2.1 2.4 1.98 71
2.
1 € 26 27 2.46 55 73
3.3 3.3 2.28 74
2.63
175 / 3.8 3.8 2.63 75
4.0 4.5 2.12 75
2.65
200 8 4.8 5 2.45 76
6.0 6.5 2.04 77
2.72
250 10 75 8 2.55 78
9.0 10 2.12 78
300 12 1 12 56 2.84 79
14 13 2.43 80
2.7
350 | 14 16 17 2.78 8 80
17 18 2.26 80
2.79
e L 20 21 2.65 80
24 80
2.83
450 | 18 o5 o 2.62 o
30 81
2.85
500 20 30 335 2.55 81
37 81
2.87
550 | 22 37 e 2.6 o
45 82
2.89
600 | 24 e 40 2.56 o
55 58 2.39 82
2.87
700 28 65 66 2.83 82
78 82
2.91
800 | 32 o a5 2.81 o
100 82
2.
900 | 36 95 L 2.5 89 o
115 125 2.45 82
2.98
ot e 140 140 2.98 82
1100 44 170 208 83
1200 48 205 3.02 83
1300 52 245 3.08 83
1400 56 285 3.09 84
1500 60 330 3.11 84
1600 64 375 3.11 84
1800 72 480 314 85
2000 30 600 319 85
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0,1 | [T HHH H 1 I HH ? |= Hg{
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10 2 3 4 5 6 7 89100 2 3 4 5 6 7891000 2 3000
REQMS/h)
(FR2-7)7kBVEEANER SR
sEpE £ %0 7k tE & #& m/kg 1§ kcall/kg KIS EL 1% kcal/kg "k
t P B FNIK BZERFNER EFnIK FZERFNES r B FNIK BZEAFNER SEISE
‘C kglcmz u' u" 5 " kcal/kg s' s" =r/T
0 0.006228 0.0010002 206.3 0.00 597.1 597.1 0.0000 2.1860 2.1860
10 0.012513 0.0010004 106.4 10.04 601.5 591.5 0.0361 2.1250 2.0889
20 0.023830 0.0010018 57.8 20.03 605.9 585.9 0.0708 2.0693 1.9985
30 0.043261 0.0010044 32.91 30.00 610.2 580.2 0.1042 2.0182 1.9140
40 0.075220 0.0010079 19.53 39.98 614.5 574.5 0.1367 1.9713 1.8346
50 0.12581 0.0010121 12.04 49.95 618.8 568.8 0.1680 1.9281 1.7601
60 0.20316 0.0010171 7.673 59.94 622.9 563.0 0.1984 1.8883 1.6899
70 0.31780 0.0010228 5.043 69.93 627.0 557.1 0.2280 1.8514 1.6234
80 0.48297 0.0010290 3.407 79.95 631.1 551.1 0.2568 1.8173 1.5605
90 0.71493 0.0010359 2.360 89.98 635.0 545.0 0.2847 1.7855 1.5008
100 1.03323 0.0010435 1.673 100.04 638.8 538.8 0.3120 1.7559 1.4439
110 1.4609 0.0010515 1.210 110.12 642.5 532.4 0.3388 1.7283 1.3895
120 2.0245 0.0010603 0.8916 120.25 646.1 525.9 0.3648 1.7023 1.3375
130 2.7544 0.0010697 0.6681 130.42 649.5 519.1 0.3903 1.6778 1.2875
140 3.6848 0.0010798 0.5087 140.64 652.8 5121 0.4153 1.6547 1.2394




Ui =
at /S it/ » W/ A W/ » LV i /X Rk 5| 2FR W
(LPS) (LPM) (CMS) (CMM) (CMH) (CMD) (GPM) (CFS)
1 60 0.001 0.060 3.6 86.4 15.85 0.0353
. 0.0167 1 0.0000167 0.001 0.05988 1.4405 0.264186 0.0005885
1000 60000 1 60 3600 86400 15850 35.31
16.70 1000 0.0167 1 60 1440 264.2 0.584
0.2778 16.7 0.000278 0.0167 1 24 4403 0.0098
0.01157 0.6942 0.0000116 0.000694 0.0417 1 0.1835 0.00041
0.0631 3.7852 0.000063 0.0038 0.2271 5.4510 1 0.00223
28.32 1699.2 0.0283 1.699 101.94 2446.6 448.86 1
= =4
g2 &
dm L m 3ke ft3 X #lgal £#igal % R3
1 0.001 0.03532 0.220 0.2642 0.025544 0.03394
1,000 1 35.317 219.95 264.19 5.5435 35.937
28.315 0.02832 1 6.2279 7.4806 0.1570 1.0175
4.5465 0.024547 0.1606 1 1.2011 0.02520 0.1633
3.7852 0.023785 0.1337 0.8325 1 0.02098 0.1360
180.39 0.18039 6.3707 39.676 47.656 1 6.4827
27.826 0.02783 0.9827 6.1203 7.3514 0.15425 1
1i n*=16.386 e 1f t3>=1728 in?
& -1
cm m km in ft R
1 0.01 0.041 0.3937 0.0328 0.033
100 1 0.001 39.371 3.2809 3.3
100,000 1,000 1 39,371 3,280.9 3,300
2.54 0.02540 0.04254 1 0.08333 0.08382
30.48 0.3048 0.033048 12 1 1.0058
30.30 0.30303 0.033030 11.9303 0.9942 1
& h
bar / ar e / o PSL atm K B B K 4 (15°C)
mgdyne / c* g b/ in? m in m in
1 1.0197 14,50 0.9869 0.7500 29.55 10.21 401.8
0.9807 1 14.223 0.9678 0.7355 28.96 10.01 394.0
0.06895 0.07031 1 0.06804 0.05171 2.0355 0.7037 27.70
1.0133 1.0333 14.70 1 0.760 29.92 10.34 407.2
1.3333 1.3596 19.34 1.316 1 39.37 13.61 535.67
0.03386 0.03453 0.4912 0.03342 0.02540 1 0.3456 13.61
0.09798 0.09991 1.421 0.0967 0.07349 2.893 1 39.37
0.002489 0.002538 0.03609 0.002456 0.001867 0.07349 0.0254 1
kg / a@=10,000 kg / @ 1b/ i n?=1441b / ft?
kw & kg-m/sec ft-1b/sec p.s. P kcal/sec B.T.U/sec
1000 J / sec )
1 101.97 735.66 1.369%6 1.3410 0.2389 0.9486
0.029807 1 7.2331 0.01333 0.01316 0.022342 0.029293
0.021366 0.13826 1. 0.021843 0.021818 0.033289 0.021286
0.7366 76 642.3 1 0.98636 0.17666 0.69686
0.74569 76.0376 650 1.01383 1 0.17803 0.70675
4.1860 426.86 3,087.44 6.69133 65.6136 1 3.9683
1.0@0 107.58 778.17 1.4_344 1.4148 o.mo 1
b E
ise=gr . .
po ( ggs_/;_“! sec centipoise, cp kg/m * sec kg/m « hr Ib/ft + sec
1 100 01 360 0.0672
0.01 1 0.001 3.6 0.000672
10 X 1 3,600 0.672
0.00278 0.278 0.03278 1 0.000187
14.88 1.488 1.488 5.356.8 1




